= KHT

=K E R B
[RK=KER]

LA EAT T LRI =)

| oLl

ot

BRRKER

0.5m3K i

0.5~1.0mK#

1.0~2.0m3ki

2.0~3.0m*%H

3.0~5.0m*%H

50mLl Lt

1:4,000

0 100m
[ e e e e

AlEEICE I E L B RFAZER) R 2jHs 236



= KHT
=K E R B
[(HITRE#E]

ot

BASITEH

FATke

1:4,000

0 100m
[ e e e e

REACRI(E L ERRRZ(EA) R 2jHs 236




= KHT

=K E R X
[(HXFE]

ot

RKFE

0.00m/s~

1.00m/s~

3.00m/s~

5.00m/s~

9.00m/s~

12.00m/s~

1:4,000

100m

REGECE I E L EBRERE(GER) R 2jHs 236




e angzad - &

AT

=7KHT
=KEERXEE
(K BIERFRE )

ot

HIKEER RS
043~

153~

253~

3~

553~

643

1:4,000

0 100m
[ e e e e

AlfEEICE I E L B REAEER) R 2jHs 236



